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Multipliser desimaler med ti

8٫146 × 1000 = ________ 3٫374 × 100 = ________

9٫051 × 10000 = ________ 8٫375 × 1000 = ________

4٫466 × 10000 = ________ 3٫549 × 10 = ________

2٫274 × 10 = ________ 3٫515 × 100 = ________

10٫557 × 1000 = ________ 8٫404 × 10000 = ________

6٫616 × 10000 = ________ 6٫749 × 10000 = ________

7٫77 × 10 = ________ 5٫142 × 100 = ________

7٫919 × 1000 = ________ 7٫615 × 1000000 = ________

9٫663 × 10 = ________ 4٫364 × 100 = ________

2٫662 × 10 = ________ 5٫319 × 1000 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

8٫146 × 1000 = 8146 3٫374 × 100 = 337.4

9٫051 × 10000 = 90510 8٫375 × 1000 = 8375

4٫466 × 10000 = 44660 3٫549 × 10 = 35.49

2٫274 × 10 = 22.74 3٫515 × 100 = 351.5

10٫557 × 1000 = 10557 8٫404 × 10000 = 84040

6٫616 × 10000 = 66160 6٫749 × 10000 = 67490

7٫77 × 10 = 77.7 5٫142 × 100 = 514.2

7٫919 × 1000 = 7919 7٫615 × 1000000 = 7615000

9٫663 × 10 = 96.63 4٫364 × 100 = 436.4

2٫662 × 10 = 26.62 5٫319 × 1000 = 5319
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